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1. Which of the following would be consistent with a more aggressive approach to finance working 

capital? 

(A)  Financing short-term needs with short-term funds. 

(B)  Financing permanent inventory build-up with long-term debt. 

(C)  Financing seasonal needs with short-term funds. 

(D)  Financing some long-term needs with short-term funds. 

2.   Which is the most reliable technique of capital budgeting analysis in terms of objectivity? 

  (A)  Accounting Rate of Return   (B)   Internal Rate of Return 

 (C)   Payback Period     (D)   Net Present Value 

3.   Market price per share of a firm having equity capital of ₹100000 consisting of shares of ₹10 each, 

profit after tax of ₹82000, and P/E ratio being 8 times is:  

 (A) ₹65.70  (B) ₹10.25   (C) ₹65.60   (D) ₹1.025 

4.  Assume that a firm has accurately calculated the net cash flows relating to two mutually exclusive 

investment proposals. If the net present value of both proposals exceeds zero and the firm is not 

under the constraint of capital rationing, then the firm should ___________. 

(A)  accept the proposal that has the largest NPV since the goal of the firm is to maximize 

shareholder wealth, and since the projects are mutually exclusive, we can only take one.  

(B)  calculate the IRRs of these investments to certain that the IRRs are greater than the cost of 

capital. 

(C)  compare the profitability index of these investments to those of other possible investments. 

(D)  calculate the payback periods to make certain the initial cash outlays can be recovered within 

an appropriate period. 

5.  ABC Ltd. share is quoted in the market at ₹20 currently. The company has paid dividend of ₹1 per 

share and the investor‟s market expects a growth rate of 5 per cent per year. The company‟s equity 

cost of capital will be: 

  (A) 12.45%  (B) 17.15%  (C) 10.25%  (D) 11.75% 

6.   The following data is available for XYZ Ltd.: 

Sales ₹2,00,000 

(-) Variable Cost ₹ (60,000) 

Contribution ₹1,40,000 

(-) Fixed Cost ₹1,00,000 

EBIT ₹40,000 

(-) Interest ₹5,000 

Profits before Tax ₹35,000 

Using the concept of financial leverage, by what percentage will the taxable income increase if 

EBIT increases by 6%. 

 (A) 10.2%  (B) 8.9%  (C) 5.2%  (D) 6.9% 

7.   The following data pertain to Forge Limited: 

 Existing Capital Structure: 10 Lakh Equity Shares of ₹10 each 

 Tax Rate: 50% 

Forge Limited plans to raise additional capital of ₹100 lakhs for financing an expansion project. It is 

evaluating two alternative financing plans: (i) Issue of 10,00,000 equity shares of ₹10 each and (ii) 

Issue of ₹100 lakh debentures carrying 14% interest. What will be the Indifference Level of EBIT? 
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(A) ₹28,00,000  (B) ₹32,00,000 (C) ₹25,00,000 (D) ₹30,00,000 

8.   X Ltd. is an unlevered firm having total assets of ₹50,00,000 (all being represented by share capital 

of ₹50,00,000) and equity capitalization rate, Ke of 10%. It has an EBIT of ₹10,00,000 subjects to 

corporate tax @ 40%. The value of the firm ABC Ltd. is:  

(A) ₹48,00,000  (B) ₹52,00,000 (C) ₹40,00,000 (D) ₹60,00,000 

9.  A person has been given the following options for investment made by him in the past. Select the 

most attractive option assuming a discount rate of 10%. 

(A)  ₹5,50,000 to be received at present time 

(B)  ₹14,00,000 to be received after 10
th
 year 

(C)  ₹65,000 receivable per annum in perpetuity 

(D)  ₹80,000 receivable per annum for 10 years  
[Given: PVIF (10%,10) = 0.386, FVIF (10%,10) = 2.594, PVIFA (10%,10) = 6.145, FVIFA (10%,10) =15.937] 

10.  Mr. R had purchased a bond at a price of ₹800 with a coupon payment of ₹150 and sold it for 

₹1000. What is his holding period rate of return? 

(A) 40.65%  (B) 36.45%  (C) 42.25%  (D) 43.75%  

11.  XYZ company buys an item costing ₹125 each in lots of 500 boxes which is a 3-month supply and 

the ordering cost is ₹150. The inventory carrying cost is estimated at 20% of unit value. Economic 

Order Quantity (approximately) will be: 

(A) 155 units  (B) 200 units  (C) 225 units  (D) 250 units 

12.  The value of furniture of a firm as on 1
st
 April 2019 is ₹80,000. Furniture purchased during the year 

was ₹40,000. During the year some furniture was sold at ₹15,000 and a loss of ₹5,000 occurred. 

The value of furniture on 31
st
 March, 2020 was ₹70,000. Depreciation charged for the year 2019-20 

will be: 

(A) ₹50,000  (B) ₹20,000  (C) ₹30,000  (D) ₹40,000 

13.  From the following details, find out credit sales during the financial year 2019 – 2020: 

(i)   Opening balance of sundry debtors on 1.4.2019 – ₹12,000. 

(ii)   Bills receivable accepted by customer – ₹13,000. 

(iii)  Closing balance of Sundry Debtors on 31.3.2020 - ₹14,000. 

(iv)   Cash received from debtors during the year – ₹38,400. 

(A) ₹39,400  (B) ₹27,000  (C) ₹65,400  (D) ₹53,400 

14.  AB Ltd. has signed on 31
st
 December, 2020, being the Balance Sheet date, a contract where the 

Total Revenue is estimated at ₹15 Crores and Total Cost ₹20 Crores. No work began on the 

contract.  The Contractor required to give accounting effect for the year ended 31
st
 December, 2020 

by recognizing: 

(A)  Expected loss of ₹5 Crores   (B)   ₹15 Crores as Profit 

(C)  Expected loss of ₹15 Crores    (D)   Expected loss of ₹20 Crores  

15.  Goods are transferred from Department X to Department Y at an invoice price so as to include a 

profit of 33.33% on cost. If the value of closing stock of Department Y is ₹48,000, then the amount 

of stock reserve on closing stock will be: 

(A) ₹12,000  (B) ₹9,000  (C) ₹18,000  (D) ₹24,000 

16.  Provision for Doubtful Debts on 1
st
 April, 2018 was ₹21,500. During the year 2018–19 the Bad debt 

and Recovery of Bad-debt were ₹10,500 and ₹2,100 respectively. The Sundry Debtors on 31
st
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March, 2019 were ₹2,25,000. Provision is to be made @ 5% on Debtors. If on 31
st
 March, 2019, 

there was additional Bad debt of ₹2,500, then Provision for doubtful debt will be: 

(A) ₹11,250  (B) ₹2,625  (C) ₹3,000  (D) ₹900 

17.  In a Cash Book Debit, balance of ₹112 brought forward as credit balance of ₹121. While preparing 

a Bank Reconciliation Statement, taking the balance as per Cash Book as the starting point: 

(A)  ₹112 is to be added    (B)   ₹121 is to be added 

(C)  ₹233 is to be added    (D)   ₹112 is to be subtracted 

18.  KCS purchased a machine from JPS on hire purchase system, whose cash price was ₹8,64,000. 

₹2,16,000 being paid on delivery and the balance in three annual instalments of ₹2,88,000 each. The 

amount of interest included in first instalment would be: 

(A) ₹72,000  (B) ₹57,600  (C) ₹1,08,000  (D) ₹36,000  

19.  The following are the details of closing stock items in the books of Aarvi Ltd.: 

Items Historical Cost (In Lakhs ₹) Net Realizable Value (In Lakhs ₹) 

A 30 27 

B 15 18 

C 35 35 

D 40 45 

 The value of Closing Stock will be: 

(A) ₹120 Lakh  (B) ₹125 Lakh  (C) ₹117 Lakh  (D) ₹128 Lakh 

20.  X and Y are partners with the capitals of ₹50,000 and ₹30,000 respectively. Interest Payable on 

capital is 10% p.a. If the profits earned by the firm is ₹4,800, what will be the Interest on Capital for 

X and Y? 

(A)  ₹5,000 and ₹3,000 respectively  (B)   ₹3,000 and ₹1,800 respectively 

(C)  ₹7,000 and ₹5,800 respectively           (D)   No interest will be paid to the partners 

21.  Match the following using the codes given below: 

S. No. Column I S. No. Column II 

(i) Highest Relative Capital Method (a) Departmental Accounts 

(ii) Basis of Apportionment of Expenses (b) Insurance Claim 

(iii) Partial Repossession (c) AS-9 

(iv) Indemnity Period (d) Piecemeal Distribution 

(v) Revenue Recognition (e) Hire Purchase 

Codes: 

(A) (i)-(d), (ii)-(a), (iii)-(e), (iv)-(b), (v)-(c)        (B) (i)-(c), (ii)-(b), (iii)-(e), (iv)-(a), (v)-(d) 

(C) (i)-(a), (ii)-(b), (iii)-(c), (iv)-(d), (v)-(e)    (D) (i)-(c), (ii)-(d), (iii)-(e), (iv)-(b), (v)-(a) 

22.  The profits of the last three years are as follows: 

      Year   Profits (₹) 

2014-15    25,000 

2015-16    30,000 

2016-17    27,500 

The above profits included non-recurring profits on an average basis of @₹1200; Normal Rate of 

Return – 10%; Capital Employed – ₹1,40,000. If Goodwill is to be valued at five years' purchase of 

super profits, the value of goodwill will be: 
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(A) ₹50,500  (B) ₹75,000  (C) ₹60,000  (D) ₹61,500 

23.  Net Asset Value – ₹60,00,000 

  Equity Shares: A type: 1,00,000 shares of ₹10 each fully paid up 

                       B type: 1,00,000 shares of ₹5 fully paid up 

 Intrinsic value of Type „A‟ and „B‟ shares would be: 

(A) ₹40 and ₹20 respectively    (B) ₹60 and ₹30 respectively 

(C) ₹50 and ₹40 respectively    (D) ₹80 and ₹60 respectively 

24.  A Ltd. took over B Ltd. and agreed to issue 4 equity shares for every 5 equity shares of B Ltd. 

Number of shares of B Ltd. is 10,000. Intrinsic value of shares of A Ltd. is ₹35 and that of B Ltd. is 

₹30 per share. Necessary adjustments are to be made in cash. The amount of purchase consideration 

for amalgamation will be: 

(A) ₹2,00,000  (B) ₹3,00,000  (C) ₹3,50,000  (D) ₹8,00,000 

25.  ABC Ltd. decides to redeem 1,000, 12% preference shares of ₹100 each at a premium of 10%, 

partly in cash and partly in equity share capital. It has General Reserve of ₹60,000 and Profit and 

Loss Account of ₹20,000 (credit) and Securities Premium Account of ₹12,000. Minimum number 

of equity shares of ₹10 each to be issued for the redemption of preference shares when new equity 

shares are issued at 10% premium will be: 

(A) 1636 shares  (B) 1800 shares (C) 1818 shares (D) 2,000 shares 

26.  PQR Ltd. has decided to increase its existing share capital by making rights issue to the existing 

shareholders in the proportion of one share for every four shares held. If the market value of the 

shares at the time of announcement of rights issue is ₹50 per share and the company has decided to 

give one share of ₹10 each at a premium of ₹15 each the minimum value of the right share will be: 

 (A) ₹5   (B) ₹9   (C) ₹10  (D) ₹12   

27.  Who among the following assesses is a „Super Senior Citizen‟ in respect of Assessment Year 2021-

22 under the Income Tax Act, 1961? 

(A) Mr. X was born on 1 April 1940   (B) Mr. Y was born on 31 March 1941 

(C) Mr. Z was born on 1 April 1941   (D) All of these   

28.  Which of the following statements is true? 

 (A)  Capital expenditure does not affect the profitability of a firm but revenue expenditure does. 

 (B)  Capital expenditure affects the profitability of a concern directly but revenue expenditure does 

not. 

 (C)  Capital expenditure affects the profitability of a concern indirectly but revenue expenditure 

affects directly. 

 (D)  Both capital expenditure and revenue expenditure affect the profitability of a concern directly.  

29. Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R): 

 Assertion (A): When a company earns profit prior to its incorporation, it is called capital profit.  

 Reason (R):  Capital profit cannot be used for distribution as dividend to the shareholders. 

In the context of the above statements, which one of the following is correct? Use the following 

codes: 

 Codes: 

(A) (A) is correct, but (R) is wrong   (B) Both (A) and (R) are correct 

(C) (A) is wrong, but (R) is correct   (D) Both (A) and (R) are wrong 
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30.  Identify the true statement(s) of the following, using the codes given below: 

(i)  Balance Sheet is always prepared from the point of view of the business but not from that of 

the owners 

(ii)   The financial relationship of the business to its owners is shown in the Balance Sheet. 

(iii)  Balance Sheet is always related to a period of time. 

 Codes: 

(A) (i) and (ii)  (B) (ii) and (iii) (C) (i) and (iii)  (D) (i), (ii) and (iii) 

31.  Assertion (A):  Dividend paid out of pre-acquisition profit by the subsidiary company to the 

holding company is deducted from the cost of investment. 

 Reason (R):  Dividend paid out of pre-acquisition profit by the subsidiary company should be 

treated as a return of capital to the holding company. 

 Which one of the following is correct? 

(A) Both (A) and (R) are correct  (B) (A) is correct, but (R) is wrong 

(C) (A) is wrong, but (R) is correct  (D) Both (A) and (R) are wrong 

32.  Which of the following statements is true? 

 (A)  Inflation is also a reason for preference for present money. 

 (B)  Cash flows of different periods in absolute terms are comparable. 

 (C)  Annuity and perpetuity are same concepts. 

 (D)  Compounding and discounting techniques are one and same thing. 

33.  A purchased B‟s business with effect from 1
st
 January, 2021. It was agreed that the firm‟s goodwill 

is to be valued at two years‟ purchase of normal average profit of the last three years.  

 The profits of B‟s business for the last three years were: 

 2018 – ₹80,000 (including an abnormal gain of ₹10,000) 

 2019 – ₹1,00,000 (after charging an abnormal loss of ₹20,000) 

 2020 – ₹1,20,000 (excluding ₹40,000 insurance premium on firm‟s property – now to be insured) 

 Value of goodwill will be: 

(A) ₹90,000  (B) ₹1,00,000  (C) ₹1,10,000  (D) ₹1,03, 333 

34.  A and B are partners sharing profits in the ratio of 5:4. They admit C for a 1/10
th
 share of profits 

which he acquires in equal proportions from both. New profit sharing will be: 

(A) 5:4:10  (B) 5:4:1  (C) 18:91:71  (D) 91:71:18 

35.  What is the basis of evaluation of risk in insurance? 

 (A) Heliocentric theory    (B) Relativity theory 

 (C) Quantum theory    (D) Probability theory 

36.  If a share of ₹10 on which ₹8 has been called and ₹6 is paid forfeited, the share capital account 

should be debited with: 

(A) ₹2   (B) ₹6   (C) ₹8   (D) ₹10 

37.  Balance in „Forfeited Shares Account‟ is shown in the Balance Sheet under the head: 

(A) Long-term borrowings   (B) Other current liabilities 

(C) Reserves and Surplus   (D) Share capital  

38.  Discount or loss on issue of debentures to be written off within 12 months from the date of Balance 

Sheet or within the period of Operating Cycle is shown as: 
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(A) Other Current Assets   (B) Other Non-current assets 

(C) Other Long-term Liabilities   (D) Other Current Liabilities 

39.  Who was the insolvent partner in Garner Versus Murray decision? 

(A) Garner  (B) Murray  (C) Wilkins  (D) Wilkinson 

40.  Which of the following is not normally treated as a revenue expenditure? 

(A) Advertising bill    (B) Wages paid for repairing the building   

(C) Whitewashing bill of a theatre  (D) Depreciation 

41.  A newly installed machinery costs a firm ₹200,000 with a salvage value of 10%. If the company 

follows diminishing method of charging depreciation, the amount of depreciation @ 20% p.a. at the 

end of 2
nd

 year, ignoring additional depreciation under Section 32(1) (iia) of the Income-tax Act, 

will be: 

(A) ₹28,800  (B) ₹32,000  (C) ₹38,000  (D) ₹40,000 

42.  The Profit-volume ratio of a firm is 40%. How much sales (in ₹) must be increased to offset 10% 

and 20% reductions in selling price to maintain same profit margin? 

(A)   10% and 20% respectively  (B) 20% and 40% respectively 

(C)  25% and 50% respectively  (D) 20% and 60% respectively 

43.  In both their dividend model and capital gearing model, „Modigliani and Miller‟ use which of the 

following principles? 

(A)  The value of the firm is fundamentally determined by its capital gearing ratio. 

 (B)  The value of the firm is fundamentally determined by the NPV of the firm's projects. 

(C)  The value of the firm is fundamentally determined by its dividend policy. 

 (D)  The value of the firm is fundamentally determined by the ability of managers to communicate 

with the capital markets. 

44.  The „going concern concept‟ is the underlying basis for: 

(A)  depreciating fixed assets over their useful lives. 

(B)  disclosing the market value of securities. 

(C)  consolidating the accounts of subsidiary companies with those of parent company. 

(D)  disclosing the sales and other operating information the income statement. 

45.  Which of the following statement is false? 

(A)  Journal records transactions in chronological order 

(B)  Ledger records transactions in analytical order 

 (C)  While posting transactions in the Ledger, of the account is debited in the journal, it will be 

credited in the Ledger. 

(D)  Trial Balance helps in knowing the arithmetical accuracy of the accounting entries 

46.  Delivery of financial services at affordable cost to the disadvantaged low-income segments of the 

society known as ______________. 

(A) credit creation    (B) financial exclusion 

(C) financial inclusion    (D) consumer credit 

47. The Purchasing Power Parity (PPP) theory is a good predictor of ____________. 

(A)  the long-run tendencies between changes in the price level and the exchange rate of two 

countries 
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(B)  interest rate differentials between two countries when there are strong barriers preventing 

trade between the two countries 

(C)  Both A and B 

(D)  None of these 

48.  The risk-free rate is 4% and the market risk premium is 8.6% and β of the security is 1.3. What is 

the expected return of the security under Capital Assets Pricing Model (CAPM)? 

(A) 10.15%  (B) 13.20%  (C) 15.18%  (D) 18.25% 

49.  Counterparty risk is:  

(A)  The risk of loss when exchange rates change during the period of a financial contract 

(B)  Based on the notional amount of the contract 

(C)  The risk of loss if the other party to a financial contract fails to honour its obligation 

(D)  Present only with exchange-traded options 

50.  _________ is the instruction given by the customer of a bank in writing requesting the banker not to 

honour the cheque whose date, number, amount, and payees name is mentioned in the cheque. 

(A) General instruction    (B) Countermanding instruction 

(C) Prohibitory instruction   (D) Standing instruction 

51.  If the British pound (£) depreciates relative to the U.S. dollar ($) : 

(A)  Cost of importing certain goods from the U.S. to the U.K. will be expensive. 

(B)  Cost of importing certain goods from the U.S. to the U.K. will be cheaper. 

(C)  Cost of importing certain goods from the U.K. to the U.S. will be expensive.  

(D)  It will boost import from the U.S. to the U.K.  

52.  Fixed overhead of a company is ₹24,000 and Standard Production is 4800 units. Actual Production 

is 4200 units. If actual fixed overhead cost is ₹22,000, then Fixed Overhead Volume Variance will 

be: 

(A) ₹1,000 (Adv.)  (B) ₹2,000 (Fav.)  (C) ₹3,000 (Adv.)  (D) ₹3,000 (Fav.)   

53.  XYZ Ltd. makes a special gadget for the car it manufactures. The machine for the gadget works to 

full capacity and incurs ₹15 Lakhs and ₹40 Lakhs respectively as Variable and Fixed Costs. If all 

the gadgets were purchased from an outside supplier, the machine could be used to produce other 

items, which would earn a total contribution of ₹25 Lakhs. What is the maximum price that XYZ 

Ltd. should be willing to pay to the outside supplier for the gadgets, assuming there is no change in 

Fixed Costs?  

(A) ₹40 Lakhs   (B) ₹65 Lakhs  (C) ₹25 Lakhs  (D) ₹15 Lakhs 

54. When a manager is concerned with monitoring total cost, total revenue and net profit conditioned 

upon the level of productivity, an accountant should normally recommend:  

         Flexible Budgeting       Standard Costing  

(A)  Yes         Yes 

(B)   Yes         No 

(C)   No         Yes 

(D)   No         No 

55.  When preparing a production budget, the quantity to be produced equals:  

(A)  sales quantity + opening inventory of finished goods + closing inventory of finished goods  

(B)  sales quantity – opening inventory of finished goods + closing inventory of finished goods  
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(C)  sales quantity – opening inventory of finished goods – closing inventory of finished goods  

(D)  sales quantity + opening inventory of finished goods – closing inventory of finished goods 

56.  Which of the following operating measures a manager would like to see decreasing over time?  

(A) Merchandise Inventory Turnover   (B) Total quality cost  

(C) Percentage of on-time deliveries   (D) Finished Goods Inventory Turnover 

57.  Financial management is an _______ function of any business. 

  (A) organic  (B) inorganic  (C) conventional (D) least important 

58.  The _______ motive relates to the holding of cash for investing in profit-making opportunities as 

and when they arise. 

(A)  Speculative  (B) Precautionary (C) Comprehensive (D) Judiciary 

59.  The extent to which an organization uses fixed cost on its cost structure is called: 

(A) Operating leverage    (B) Financial leverage 

(C) Overall leverage    (D) None of these  

60.  The degree to which the value of the future cash transactions can be affected by exchange rate 

fluctuations is referred to as: 

(A) Economic Exposure    (B) Transaction Exposure 

(C) Translation Exposure   (D) Balance Sheet Exposure 

61.  Debtor‟s turnover ratio of a firm is 5 times whereas average receivables are ₹10,000. Credit sales of 

the form is: 

(A) ₹20,000  (B) ₹25,000  (C) ₹50,000  (D) ₹73,000 

62.  Identify the odd one out: 

(A) Cash management    (B) Inventory management 

(C) Production management   (D) Receivable management 

63.  At EOQ level, which of the following is correct? 

(A)  Total ordering cost = Total holding / carrying cost 

(B)  Ordering cost per order = Holding / carrying cost per unit 

(C)  Total ordering cost > Total holding / carrying cost 

(D)  Total ordering cost < Total holding / carrying cost 

64. Which of the following is incorrect in relation to „Net Profit‟? 

(A)  Net profit is the increase in equity from the operations of the business. 

(B)  Net profit is the excess of revenues over expenses 

(C)  Revenues and expenses result from selling goods or providing services 

(D)  Changes in equity because of further investments by, and distributions to, owners form part of 

net profit 

65. The interest rate corresponding to the payback period value (annuity) is a good approximation of: 

(A) Accounting rate of return   (B) Internal rate of return 

(C) Net Present Value    (D) Profitability Index 
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66.  Goods sent to branch at cost plus 20%. The loading on the invoice price will be: 

(A) 16.67%  (B) 20%  (C) 25%  (D) 33.33% 

67.  Which of the following statements is true regarding accounting for branches? 

(A)  Under „Debtors System‟, Branch account is a real account 

(B)  Under „Stock and Debtors System‟, Branch adjustment account discloses the gross profit 

made by the branch 

(C)  Branch stock account is always prepared at cost price 

(D)  Under „Stock and Debtors System‟, Branch Stock Account is a nominal account 

68.  Royalty account is a: 

(A) Real account    (B) Nominal account 

(C) Personal account    (D) Representative personal account 

69.  Which of the following errors affects agreement of trial balance? 

(A) Error of omission in journal  (B) Compensating error 

(C) Error of principle    (D) Error of commission 

70.  What does the balance in „Memorandum Joint Venture Account‟ show? 

(A) Profit or loss     (B) Closing stock 

(C) Balance due from another co-venturer  (D) Difference in Trial Balance 

71.  Match the following items under Table I with those of Table II using the codes given below: 

              Table I                        Table II 

       Accounting Standard               Subject Matter 

(i)       AS 1 (a)  Cash flow statements  

(ii)       AS 2 (b)    Contingencies and events occurring after the balance sheet date 

 (iii)  AS 3 (c)  Disclosure of Accounting Policies 

 (iv)  AS 4 (d)  Valuation of Inventories 

 Codes: 

(A)   (i) – (d), (ii) – (c), (iii) – (a), (iv) – (b) 

(B)   (i) – (c), (ii) – (d), (iii) – (a), (iv) – (b) 

(C)   (i) – (b), (ii) – (d), (iii) – (c), (iv) – (a) 

(D)   (i) – (a), (ii) – (b), (iii) – (d), (iv) – (c) 

72.  What is the basic premise of cost concept? 

(A)  Cost ascertainment          (B)  Tax compliance  

(C)  Financial audit        (D)  Profit analysis 

73.  Operating costing is suitable for: 

(A)  Contractors        (B) Job order business      (C) Service industry     (D) Sugar industry  

74.  Warehouse rent is a part of which cost? 

(A) Production cost    (B) Distribution cost     (C) Prime cost (D) Factory cost 

75.  What is the total of all direct costs known as? 

(A) Cost of production      (B) Cost of sales     (C) Prime cost (D) Works cost 
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76.  When there is no opening or closing stocks, profit under marginal costing will be: 

(A)   Greater than in absorption costing    

(B)   Less than in absorption costing  

(C)  Equal to absorption costing  

(D)  Greater, Lower or Equal depending on certain factors 

77.  Which of the following statements „True‟ among the following? 

     (A)  Arbitrage process is used under „Net Operating Income Approach‟. 

 (B)  In the absence of corporate tax, the value of the levered firm is greater than the value of the 

unlevered firm. 

      (C)  MM Approach provides behavioral justification to the Net Income Approach 

 (D)  Capital structure has no relationship with the value of the firm according to MM Approach. 

78.  Given: Risk free rate of interest = 5% , Expected rate of return on the market portfolio = 15%, 

Sensitivity index of the stock‟s returns to market returns = 1.2. Cost of capital as per Capital Asset 

Pricing Model will be: 

(A) 10%   (B) 15%  (C) 17%  (D) 27% 

79.  For proof, Material Cost Variance is equal to: 

(A)  Material Usage Variance + Material Mix Variance 

(B)  Material Price Variance + Material Usage Variance 

(C)  Material Price Variance + Material Yield Variance 

(D)  Material Mix Variance + Material Yield Variance 

80.  Which of the following the assumptions of marginal costing are true as per the Codes given below? 

(i)   All the elements of cost can be divided into fixed and variable components. 

(ii)  Total fixed cost remains constant at all levels of output. 

(iii) Total variable costs varies in proportion to the volume of output. 

(iv)   Per unit selling price remain unchanged at all levels of operating activity. 

  Codes: 

(A)  (i) and (ii)  (B) (ii) and (iii) (C) (i) and (iv)  (D) (i), (ii), (iii) & (iv) 

81.  Select the incorrect statement(s) about „Sustainable Development Goals‟ (SDGs):- 

1. The Sustainable Development Goals are officially known as „Transforming Our World: The 

2030 Agenda for Sustainable Development‟. 

2. The Sustainable Development Goals are the Inter-Governmental set of 25 aspiration goals 

with 150 targets. 
3. The SDGs came into existence on 1

st
 January, 2015 and will end by 31

st
 December, 2025. 

4. Department of Social Welfare is the Nodal Department in the state to facilitate 

implementation of the SDGs framework in Himachal Pradesh. 

(A) 2, 3 and 4  (B) 1 only  (C) 2 only  (D) None of these 

82.  Which of the following statement(s) is / are not correct? 

1. About 80% of the total cultivated area in the Himachal Pradesh state is rainfed. 

2. The state receives an average rainfall of 1251 mm. 

3. Kangra district gets the highest rainfall. 

4. Lahaul & Spiti district gets the lowest rainfall. 

 (A) 1 only  (B) 2 only  (C) 3 and 4   (D) None of these 
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83. Select the correct statement(s) from the following. 

1. Subuktgin the king of Gazani made a raid on Nagarkot in 1008-09 AD. 

2. The Nagarkot fort remained under the possession of Mahmud‟s garrison till 1020 AD. 

3. The event of seize of the Kangra fort by Firoz Shah is not found mentioned in the Ma`Usir-

ul-Umra‟. 

4. Prince Nasir-ud-Din ascended the throne of Kangra under the name of Timur-e-Lang. 

(A) All of the above (B) 1 and 2 only (C) 3 and 4 only (D) None of the above 

84. Select the correct statement/s from the following. 

1. The average elevation of peaks in Lahaul region is 5480 meters to 6400 meters 

2. Spiti in comparison to Lahaul is higher in elevation. 

3. The valley of the combined rivers „Chandra and Bhaga‟ is known as „Pattan‟ valley. 

4. River „Spiti‟ meets the Satluj river at „Chango‟ in Kinnaur. 

(A) 3  only  (B) 1, 2 and 3  (C) All of the above (D) 4 only 

85. Match the following combinations in terms of their relation and select the correct answer from the 

codes given below. 

1. Bir Billing          :   Axe Bore Raymond from France. 

2. Sharab Raldi       :  This seems to have been built in the Toledo technique of Spain. 

3. Macleod Ganj      :  Named after a town in Italy. 

4. Bantony castle  :  Summer palace of the erstwhile Maharaja of Chamba. 

(A) 1. 3 and 4 are correct  (B) 1 and 2 are correct 

(C)  3 and 4 are correct    (D) All of the above are not correct 

86. Which of the following statement(s) is / are not true? 

1. The state government opened Yak breeding centers at Kaimo and Kaito in Spiti valley. 

2. In June 2018, H.P., has decided to adopt Bhutan model of tourism for its pristine Kullu valley 

by restricting tourist inflow.  

3. H.P. Government launched a new scheme “Aaj purani raho se” for identification of 

unexplored and untapped tourist places in the state.  

4. To promote tourism in H.P. the state govt. has given its nod to the film making policy framed 

by the department of tourism and civil aviation. 

(A) None of the above.  (B) All of the above (C) 1, 2 & 3  (D) 4 only 

87. Which of the following schemes/initiatives are launched by the Government of H.P.?  

1. „Shakti‟ app a mobile app for women to use at the time of any untoward incident.  

2. „Beti hai Anmol‟ scheme in order to change the negative attitude of community towards girl 

child.  

3. „Bal Balika Suraksha Yojna‟ to ensure holistic development of destitute children.  

4. „Sashakt Kishori Yojna‟ to improve the nutritional and health status of adolescent girls  

(A) All of the above   (B) 1, 2 and 3   (C) 1, 2 and 4  (D) 1 & 2 

88. Read the following statements about Gujjars of H.P. and select the correct answer from the options 

below: 

1. Gujjars are never heard of until near the end of the 6
th
 century. 

2. The Gujjars of Himachal Pradesh are mostly pastoral. 

3. The records bracket the Gujjars with the Hunas.  

4. The Gujjars in H. P. are Hindus as well as Muslims. 

(A) All of the above statements are correct   (B) All of the above statements are incorrect    

(C) Statement 4 is incorrect     (D) Statements 1 & 3 are incorrect  
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89. Which of the following statements are not correct?  

1. To rejuvenate exinct and depleted water resources in the state 'Parvat Dhara' scheme has been 

launched. 

2. The scheme 'Parvat Dhara' is being implemented by both Jal Shakti Department and Forest 

Department. 

3. 'Van Samridhi Jan Samridhi Yojna' is being implemented in only two Bio-diversity rich 

districts of H.P.  

4. Objective of the 'Samudayik Van Samvardhan Yojna' is to ensure participation of local 

communities in conservation and development of forests.  

(A) 1, 2 and 4  (B) 3 only  (C) All of the above   (D) 1 and 2 
 

90. Which of the following statement is not correct?  

1. 'Mukhya Mantri Khet Sanrakshan Yojna' has been introduced for protection of crops from the 

menace of monkeys and stray animals. 

2. Government of H.P. has launched a new scheme 'Jal se Krishi ko Bal' and 100% expenditure 

would be borne by the Government for community based small water saving. 

3. To save crops from hailstorms, the State Government has started a new scheme 'Krishi se 

Sampannta Yojna' from year 2020-21. 

4. For cultivation of a new variety of 'Heeng' and 'Saffron', the 'Krishi Utpadan Sarankshan 

Yojna' has been started by the Government of H.P.  

(A) 1 and 2   (B) 3 and 4   (C) Only 2    (D) Only 1 

 

91.  The „Montagu Chelmsford Reforms‟ were related to …. 

 (A) Social Reforms    (B) Educational Reforms 

(C) Reforms in Public Administration  (D) Constitutional Reforms 

 

92. India‟s Chief Election Commissioner (CEC) Sushil Chandra has recently overseen the presidential 

election of which country as International Observer? 

 (A) Singapore   (B) Thailand   (C) Uzbekistan  (D) Sri Lanka  

93. In which of the following regions of India are Shale Gas resources found? 

1. Cambay Basin  2. Cauvery Basin  3. Krishna-Godavari Basin 

(A) 1 and 2 only  (B) 3 only  (C) 2 and 3 only  (D) 1, 2 and 3   

94. The fundamental objective of Panchayati Raj System is to ensure which of the following: 

1. Political Accountability 

2. People‟s participation in the development 

3. Democratic Decentralization 

4. Financial Mobilization 

(A) 1and 2  (B) 2 and 3  (C) 1, 2 and 3  (D) 3 and 4 

95. Clean Environment Cess is imposed on: 

(A) cutting of green trees   (B) pollution of rivers   

(C) production of coal    (D) air pollution by factories 

96.  Beijing + 25 - is related to which of the following? 

(A) To mark 25 years of the adoption of the Beijing platform for action to remove barriers to 

gender inequality. 
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(B) To mark 25 years of the adoption of the Beijing platform for action to remove barriers to 

economic inequality. 

(C) To mark 25 years of the adoption of the Beijing platform for action to remove barriers to 

political inequality. 

(D) To mark 25 years of the adoption of the Beijing platform for action to remove barriers to 

regional inequality. 

97. Why the World Bank was established? 

(A)  To promote the International Trade. 

(B)  To reconstruct the economies damaged during the Second World War. 

(C)  To improve the adverse Balance of Payment situation of the non-member countries 

(D)  None of the above 

98. Which of the following statement is correct about the Global Gender Gap Report 2020? 

(A) It has a total of 153 participants  (B) Indian rank is 112 

(C) Norway is the most gender-neutral country (D) Yemen is the least gender-neutral country 

99. The surface valley of Karst Topography are because: 

(A) They are located in the latitudes between Tropical and Polar Regions 

(B) They do not have a surface drainage system  

(C) They receive an annual average rainfall below 25cms 

(D) They are always located near the deserts 

100. Cook Strait, which was seen in the news, recently is located in which country? 

 (A) New Zealand (B) Australia  (C) France  (D) England 

 

*****  
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1. ननम्ननिनखत में से कौन सा विकल्प काययशीि पूूंजी के नित्तपोषण के निए आक्रामक दनृिकोण के अनुरूप होगा? 

(A) अल्पकानिक नननधयों के साथ अल्पकानिक जरूरतों का नित्तपोषण 

(B) दीघयकानिक ऋण के साथ स्थायी इन्िेंट्री नबल्डअप का नित्तपोषण 

(C) अल्पकानिक धन के साथ मौसमी जरूरतों का नित्तपोषण 

(D) अल्पकानिक नननध के साथ कुछ िूंबी अिनध की जरूरतों को पूरा करना 

2.  िस्तुननष्ठता के सूंदभय में पूूंजी बजट निशे्लषण की सबसे निश्वसनीय तकनीक कौन सी है? 

 (A) ररटनय की िेखा दर (ARR)   (B) ररटनय की आूंतररक दर (IRR) 

 (C) पेबैक अिनध (PBP)    (D) शुद्ध ितयमान मूल्य (NPV) 

3.  एक फमय का प्रनत शेयर बाजार मूल्य , नजसकी इक्विटी पूूंजी `100000 है, नजसमें प्रत्येक `10 के शेयर , `82000 

का कर पश्चात िाभ, और पी/ई अनुपात 8 गुना ह:ै 

 (A) `65.70  (B) `10.25  (C) `65.60  (D) `1.025 

4.  मान िें क्वक एक फमय ने दो परस्पर अनन्य ननिेश प्रस्तािों से सूंबूंनधत शुद्ध नकदी प्रिाह की सही गणना की ह।ै यक्वद 

दोनों प्रस्तािों का शुद्ध ितयमान मूल्य शून्य से अनधक ह ैऔर फमय पूूंजी राशननग की बाधा के अधीन नहीं है , तो फमय 

___________ । 

(A) उस प्रस्ताि को स्िीकार करें नजसमें सबसे बडा एनपीिी ह ैक्योंक्वक फमय का िक्ष्य शेयरधारक धन को 

अनधकतम करना है, और चूूंक्वक पररयोजनाएूं परस्पर अनन्य हैं, हम केिि एक ही िे सकते हैं 

(B) इन ननिेशों की अंतररक प्रवतफल दर (आई आर आर) की गणना नननश्चत रूप से करें क्वक आई आर आर पूूंजी 

की िागत से अनधक हैं  

(C) इन ननिेशों की िाभप्रदता सूचकाूंक की तुिना अन्य सूंभानित ननिेशों से करें  

(D) यह सुनननश्चत करने के निए क्वक प्रारूंनभक नकद पररव्यय उनचत अिनध के भीतर िसूि क्वकया जा सकता है, 

प्रत्यािततन ऄिवध (पे बैक पीररयड) की गणना करें 

5.  एबीसी निनमटेड का शेयर बाजार में ितयमान में `20 पर उद्धृत क्वकया गया ह।ै कूं पनी ने प्रनत शेयर `1 के िाभाूंश 

का भुगतान क्वकया ह ैऔर ननिेशक का बाजार प्रनत िषय 5 प्रनतशत की िृनद्ध दर की उम्मीद करता ह।ै कूं पनी की 

पूूंजी की इक्विटी िागत होगी: 

 (A) 12.45%  (B) 17.15%  (C) 10.25%  (D) 11.75% 

6.   एक्सिाईजेड निनमटेड के निए ननम्ननिनखत डेटा उपिब्ध है: 

नबक्री `2,00,000 

(-) पररितयनीय िागत `(60,000) 

योगदान `1,40,000 

वथथर िागत `1,00,000 

EBIT `40,000 

ब्याज `5,000 

कर पूिय िाभ `35,000 



Page 16 of 32 
 

नित्तीय उत्तोिन की अिधारणा का उपयोग करते हुए , यक्वद EBIT में 6% की िृनद्ध होती है , तो कर योग्य आय में 

क्वकतने प्रनतशत की िृनद्ध होगी। 

(A) 10.2%  (B) 8.9%  (C) 5.2%  (D) 6.9% 

7.   ननम्ननिनखत आूंकडे फोजय निनमटेड से सूंबूंनधत हैं: 

  मौजूदा पूूंजी सूंरचना: `10 प्रत्येक के 10 िाख इक्विटी शेयर 

  कर की दर: 50% 

फोजय निनमटेड एक निस्तार पररयोजना के नित्तपोषण के निए `100 िाख की अनतररक्त पूूंजी जुटाने की योजना 

बना रहा ह।ै यह दो िैकनल्पक नित्तपोषण योजनाओं का मूल्याूंकन कर रहा है: ( i) `10 प्रत्येक के 10 ,00,000 

इक्विटी शेयर जारी करना और (ii) 14% ब्याज िािे ₹100 िाख नडबेंचर जारी करना। EBIT का उदासीनता स्तर 

क्या होगा? 

 (A) `28,00,000 (B) `32,00,000  (C) `25,00,000  (D) `30,00,000 

8. एक्स निनमटेड एक नबना िीिर िािी फमय ह ैनजसकी कुि सूंपनत्त `50,00,000 ह ै(सभी का प्रनतनननधत्ि 

`50,00,000 की शेयर पूूंजी द्वारा क्वकया जा रहा ह)ै और इक्विटी पूूंजीकरण दर , 10% की के। इसमें कॉपोरेट टैक्स 

@40% के निए `10,00,000 निषयों का EBIT ह।ै फमय एबीसी निनमटेड का मूल्य ह:ै 

(A) `48,00,000 (B) `52,00,000  (C) `40,00,000  (D) `60,00,000 

9.  एक व्यनक्त को उसके द्वारा पूिय में क्वकए गए ननिेश के निए ननम्ननिनखत निकल्प क्वदए गए हैं। 10% की छूट दर 

मानकर सबसे आकषयक निकल्प चुनें I 

(A) ितयमान समय में प्राप्त होने िािे `5,50,000 

(B) 10िें िषय के ऄंत में प्राप्त होने िािे `14,00,000  

(C) `65,000 प्रवत िर्त सदा के वलए प्राप्य 

(D) `80,000 प्रनत िषय 10 िषों के निए प्राप्य 

[ददया गया ह:ै पी िी अइ एफ(10%,10) = 0.386, एफ िी अइ एफ(10%,10) = 2.594, पी िी अइ एफ ए(10%,10) = 

6.145, एफ िी अइ एफ ए(10%,10) =15.937] 

10. श्री अर न े`800 की कीमत पर `150 के कूपन भुगतान के साथ एक बांड खरीदा था और आसे `1000 में बेच 

ददया। ईसकी होल्ल्डग पीररयड रेट ऑफ ररटनत क्या ह?ै 

(A) 40.65%  (B) 36.45%  (C) 42.25%  (D) 43.75% 

11. XYZ कूं पनी 500 बक्सों के िॉट में प्रत्येक की कीमत `125 की एक िस्तु खरीदती ह ैजो क्वक 3 महीने की आपूर्तत 

ह ैऔर ऑडयर करने की िागत `150 ह।ै इन्िेंट्री िे जाने की िागत इकाई मूल्य का 20% अनुमाननत ह।ै आर्तथक 

आदेश की मात्रा (लगभग) होगी: 

 (A) 155 इकाइयाूं (B) 200 इकाइयाूं  (C) 225 इकाइयाूं  (D) 250 इकाइयाूं 

12.  1 अपै्रि, 2019 को एक फमय के फनीचर का मूल्य `80,000 ह।ै िषय के दौरान खरीदा गया फनीचर `40,000 था। 

िषय के दौरान कुछ फनीचर `15,000 में बेचे गए और `5,000 की हानन हुई। 31 माचय , 2020 को फनीचर का 

मूल्य `70,000 था। िषय 2019-20 के निए िगाया गया मूल्यह्रास होगा: 

(A) `50,000  (B) `20,000  (C) `30,000  (D) `40,000 
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13.  नित्तीय िषय 2019-2020 के दौरान ननम्ननिनखत नििरणों से के्रनडट नबक्री का पता िगाएूं: 

i  1.4.2019 को निनिध देनदारों का प्रारूंनभक शेष – `12,000 

ii.  ग्राहक द्वारा स्िीकार क्वकए जाने योग्य नबि - `13,000 

iii.  31.3.2020 को निनिध देनदारों का अूंनतम शेष - ̀ 14,000` 

iv.  िषय के दौरान देनदारों से प्राप्त नकद - `38,400 

(A) `39,400  (B) `27,000  (C) `65,400  (D) `53,400 

14.  ए बी निनमटेड ने 31 क्वदसूंबर, 2020 को, बैिेंस शीट की तारीख पर, एक ऄनुबंध पर हथताक्षर दकए हैं, जहाूं कुि 

राजस्ि `15 करोड और कुि िागत `20 करोड होने का अनुमान ह।ै ठेके पर कोई काम शुरू नहीं हुआ। ठेकेदार को 

31 ददसंबर 2020 को समाप्त िर्त के वलए लेखांकन प्रभाि दनेा अिश्यक ह:ै 

(A) `5 करोड़ की ऄपेवक्षत हावन   (B) `15 करोड़ लाभ के रूप में 

(C) `15 करोड़ की ऄपेवक्षत हावन   (D) `20 करोड़ की ऄनुमावनत हावन 

15.  निभाग X से निभाग Y को चालान कीमत पर माि हस्ताूंतररत क्वकया जाता ह ैताक्वक िागत पर 33.33 प्रनतशत 

का िाभ शानमि क्वकया जा सके। यक्वद निभाग Y के ऄंवतम रहवतय ेका मूल्य `48,000 है, तो ऄंवतम रहवतय ेपर 

थटॉक ऄवधशेर् की रानश होगी: 

(A) `12,000  (B) `9,000  (C) `18,000  (D) `24,000 

16.  1 अपै्रि, 2018 को सूंक्वदग्ध ऋणों के निए प्रािधान `21,500 था। िषय 2018-19 के दौरान अशोध्य ऋण और 

अशोध्य ऋण की िसूिी क्रमशः `10,500 और `2,100 थी। 31 माचय, 2019 को निनिध देनदार `2,25,000 थे। 

देनदारों पर 5% की दर से प्रािधान क्वकया जाना ह।ै यक्वद 31 माचय, 2019 को `2,500 का अनतररक्त अशोध्य ऋण 

था तो सूंक्वदग्ध ऋण के निए प्रािधान होगा: 

(A) `11,250  (B) `2,625   (C) `3,000   (D) `900  

17.  कैश बुक में `112 डेनबट बैिेंस को `121 के के्रनडट बैिेंस के रूप में आगे िाया गया I  कैश बुक के अनुसार शेष 

रानश को शुरुआती नबद ुके रूप में िेते हुए एक बैंक समाधान नििरण तैयार क्वकया गया I आसके वलए: 

(A) `112 को जोडा जाना ह ै   (B) `121 को जोडा जाना ह ै

(C) `233 को जोडा जाना ह ै   (D) `112 को घटाया जाना ह ै

18.  के सी एस ने जे पी एस से भाडे की खरीद प्रणािी पर एक मशीन खरीदी , नजसका नकद मूल्य `8,64,000 था। 

`2,16,000 का भुगतान नडिीिरी पर क्वकया जा रहा ह ैऔर शेष रानश, `2,88,000 प्रत्येक की तीन िार्तषक 

क्वकस्तों में दकया जाना ह।ै पहिी क्वकस्त में शानमि ब्याज की रानश होगी: 

(A) `72,000  (B) `57,600  (C) `1,08,000  (D) `36,000 

19.  आरिी निनमटेड की पुस्तकों में अूंनतम स्टॉक मदों का नििरण ननम्ननिनखत है: 

     आइटम          ऐनतहानसक िागत        शुद्ध िसूिी योग्य मूल्य  

        (` िाख में)              (̀  िाख में)  

       A   30   27  

      B   15   18  

       C   35   35  
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       D   40   45  

 अूंनतम स्टॉक का मूल्य होगा 

(A) `120 िाख (B) `125 िाख  (C) `117 िाख  (D) `128 िाख 

20.  X और Y क्रमशः `50,000 और `30,000 की पूूंजी के साथ साझेदार हैं। पूूंजी पर देय ब्याज 10% प्रनत िषय ह।ै 

यक्वद फमय द्वारा अर्तजत िाभ `4,800 ह,ै तो X और Y के निए पूूंजी पर ब्याज क्वकतना होगा? 

(A) `5,000 और `3,000 क्रमशः  (B) `3,000 और `1,800 क्रमशः 

(C) `7,000 और `5,800 क्रमशः  (D) भागीदारों को कोई ब्याज नहीं क्वदया जाएगा 

21.  ननम्ननिनखत का नीच ेददए गए कूट का प्रयोग कर नमिान कीवजए : 

           क्रमाूंक कॉिम I       क्रमाूंक कॉिम II 

(i) उच्चतम सापेक्ष पूूंजी निनध    ( a) निभागीय िेखा 

(ii) व्यय के निभाजन का आधार    ( b) बीमा दािा 

(iii) आूंनशक कब्जा     ( c) एएस-9 

(iv) क्षनतपूर्तत अिनध     ( d) टुकडा नितरण 

(v) राजस्ि मान्यता     ( e) क्वकराया खरीद 

कूट: 

(A) (i)-(d), (ii)-(a), (iii)-(e), (iv)-(b), (v)-(c) (B) (i)-(c), (ii)-(b), (iii)-(e), (iv)-(a), (v)-(d) 

(C) (i)-(a), (ii)-(b), (iii)-(c), (iv)-(d), (v)-(e) (D) (i)-(c), (ii)-(d), (iii)-(e), (iv)-(b), (v)-(a) 

22.  नपछिे तीन िषों के िाभ इस प्रकार हैं: 

    िषय   िाभ ( `) 

 2014-15  25 ,000 

 2015-16  30 ,000 

 2016-17  27 ,500 

उपरोक्त िाभों में @`1200 के औसत आधार पर अनािती िाभ शानमि हैं ; ररटनय की सामान्य दर - 10% ; 

ननयोनजत पूूंजी - `1,40,000। यक्वद ख्यानत का मूल्याूंकन पाूंच िषय के सुपर िाभ की खरीद पर क्वकया जाना है , तो 

ख्यानत का मूल्य होगा: 

(A) `50,500  (B) `75,000  (C) `60,000  (D) `61,500 

23.  शुद्ध सूंपनत्त मूल्य - `60,00,000 

 इक्विटी शेयर:  ए टाइप: `10 के 1,00,000 शेयर प्रत्येक पूरी तरह से प्रदत्त 

              बी टाइप: `5 के 1,00,000 शेयर पूरी तरह से चुकता 

टाइप 'ए' और 'बी' शेयरों का आूंतररक मूल्य होगा: 

(A) `40 और `20 क्रमशः   (B) `60 और `30 क्रमशः 

(C) `50 और `40 क्रमशः   (D) `80 और `60 क्रमशः 

24.  ए निनमटेड ने बी निनमटेड का अनधग्रहण क्वकया और बी निनमटेड के प्रत्येक 5 इक्विटी शेयरों के निए 4 इक्विटी 

शेयर जारी करने के निए सहमवत हुइ। बी निनमटेड के शेयरों की सूंख्या 10 ,000 ह।ै ए निनमटेड के शेयरों का 
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आूंतररक मूल्य `35 ह ैऔर बी निनमटेड का `30 प्रनत शेयर ह।ै आिश्यक समायोजन नकद में क्वकया जाना ह।ै 

समामेिन के निए खरीद प्रनतफि की रानश होगी: 

(A) `2,00,000 (B) `3,00,000  (C) `3,50,000  (D) `8,00,000 

25.  ए बी सी निनमटेड ने `100 के 1,000, 12% िरीयता शेयरों को 10% के प्रीनमयम पर , आूंनशक रूप से नकद में 

और आूंनशक रूप से इक्विटी शेयर पूूंजी में भुनाने का ननणयय निया। इसमें `60,000 का सामान्य ररजिय, `20,000 

(के्रनडट) का िाभ और हानन खाता और `12,000 का प्रनतभूनत प्रीनमयम खाता ह।ै 10% प्रीनमयम पर नए इक्विटी 

शेयर जारी क्वकए जाने पर िरीयता शेयरों के मोचन के निए जारी क्वकए जाने िािे `10 के इक्विटी शेयरों की 

न्यूनतम सूंख्या होगी: 

(A) 1636 शेयर (B) 1800 शेयर  (C) 1818 शेयर  (D) 2,000 शेयर 

26.  पी क्यू आर निनमटेड ने मौजूदा शेयरधारकों को हर चार शेयरों के निए एक शेयर के अनुपात में राइट्स इश्यू 

बनाकर अपनी मौजूदा शेयर पूूंजी को बढाने का फैसिा क्वकया ह।ै अगर राइट्स इश्यू की घोषणा के समय शेयरों का 

बाजार मूल्य `50 प्रवत शेयर ह ैऔर कूं पनी ने `15 प्रत्येक के प्रीनमयम पर `10 का एक शेयर देने का फैसिा क्वकया 

ह ैतो राइट शेयर का न्यूनतम मूल्य होगा: 

(A) `5  (B) `9   (C) `10   (D) `12 

27.  वनम्नवलवखत में से कौन अयकर ऄवधवनयम, 1961 के तहत वनधातरण िर्त 2021-22 के संबंध में 'सुपर सीवनयर 

वसटीजन' है? 

(A) वमथटर एक्स का जन्म 1 ऄपै्रल 1940 को हुअ  

(B) वमथटर िाइ का जन्म 31 माचत 1941 को हुअ  

(C) श्री जेड 1 ऄपै्रल 1941 को पैदा हुए 

(D) ईपरोक्त सभी 

28.  ननम्ननिनखत में से कौन सा कथन सत्य है? 

(A) पूूंजीगत व्यय एक फमत की िाभप्रदता को प्रभानित नहीं करता ह ैिेक्वकन राजस्ि व्यय करता है  

(B) पूूंजीगत व्यय एक फमत की िाभप्रदता को सीधे प्रभानित करता ह ैिेक्वकन राजस्ि व्यय नहीं करता है  

(C) पूूंजीगत व्यय अप्रत्यक्ष रूप से एक फमत की िाभप्रदता को प्रभानित करता ह ैिेक्वकन राजस्ि व्यय सीधे 

प्रभानित करता है 

(D) पूूंजीगत व्यय और राजस्ि व्यय दोनों एक फमत की िाभप्रदता को प्रभानित करते हैं  

29.  नीचे दो कथन क्वदए गए हैं, एक को अनभकथन (A) और दसूरे को कारण (R) के रूप में िेबि क्वकया गया ह:ै 

 अनभकथन (A): जब कोई कूं पनी अपने ननगमन से पहिे िाभ कमाती है, तो इसे पूूंजीगत िाभ कहा जाता है । 

 कारण (R):  शेयरधारकों को िाभाूंश के रूप में नितरण के निए पूूंजीगत िाभ का उपयोग नहीं क्वकया जा सकता 

ह ै। 

 उपरोक्त कथनों के सूंदभय में, ननम्ननिनखत में से कौन सा सही ह?ै कोड का प्रयोग करें I 

कोड: 

(A) (A) सही ह,ै िेक्वकन (R) गित ह ै  (B) दोनों (A) और (R) सही हैं  

(C) (A) गित ह,ै िेक्वकन (R) सही ह ै  (D) दोनों (A) और (R) गित हैं  
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30.  नीचे ददए गए कोड का प्रयोग कर वनम्नवलवखत में स ेसत्य कथनों को पहचावनए:  

(i)   बैिेंस शीट हमेशा व्यिसाय के दनृिकोण से तैयार की जाती ह ैिेक्वकन मानिकों के दनृिकोण नहीं 

(ii)  व्यिसाय के अपने मानिकों के साथ नित्तीय सूंबूंध बैिेंस शीट में ददखाए जात ेहैं 

(iii) बैिेंस शीट हमेशा समय की अिनध से सूंबूंनधत होती ह ै

कोड: 

(A) (i) और (ii) (B) (ii) और (iii)       (C) (i) और (iii)   (D) (i), (ii) और (iii) 

31.  दािा (A): सहायक कूं पनी द्वारा होनल्डग कूं पनी को पूिय-अनधग्रहण िाभ में से िाभाूंश का भुगतान ननिेश की 

िागत से घटाया जाता है । 

कारण ( R): सहायक कूं पनी द्वारा पूिय-अनधग्रहण िाभ में से िाभाूंश का भुगतान होनल्डग कूं पनी को पूूंजी की 

िापसी के रूप में माना जाना चानहए । 

 ननम्ननिनखत में से कौन सा सही है? 

(A) दोनों (A) और (R) सही हैं   (B) (A) सही ह,ै िेक्वकन (R) गित ह ै

(C) (A) गित ह,ै िेक्वकन (R) सही ह ै  (D) दोनों (A) और (R) गित हैं 

32.  ननम्ननिनखत में से कौन सा कथन सत्य है? 

(A) मुद्रास्फीनत भी ितयमान धन के निए िरीयता का एक कारण ह ै

(B) ननरपेक्ष रूप से निनभन्न अिनधयों के नकदी प्रिाह तुिनीय हैं 

(C) िार्तषकी और शाश्वतता एक ही अिधारणा ह ै

(D) कूं पाउूं नडग और नडस्काउूं टटग तकनीक एक ही चीज हैं 

33.  ए ने 1 जनिरी  2021 से बी का व्यिसाय खरीदा। यह सहमनत हुई क्वक फमय की ख्यावत का मूल्याूंकन नपछिे तीन 

िषों के सामान्य औसत िाभ की दो साि की खरीद पर क्वकया जाना ह।ै नपछिे तीन िषों में B के व्यिसाय का 

िाभ था: 

 2018 - `80,000 (`10,000 के असामान्य िाभ सनहत) 

 2019 - `1,00,000 (`20,000 की असामान्य हानन के बाद) 

2020 - `1,20,000 (फॉमय की सूंपनत्त पर `40,000 के बीमा प्रीनमयम को छोडकर - अब बीमा क्वकया जाएगा) 

 ख्यावत का मूल्य होगा: 

(A) `90,000  (B) `1,00,000  (C) `1,10,000  (D) `1,03, 333 

34.  A और B साझेदार हैं और 5:4 के अनुपात में िाभ बााँटते हैं। िे C को िाभ के 1/10िें नहस्से के निए स्िीकार करते 

हैं नजसे िह दोनों से समान अनुपात में प्राप्त करता ह।ै नया िाभ बूंटिारा होगा: 

(A) 5:4:10  (B) 5:4:1  (C) 18:91:71  (D) 91:71:18 

35.  बीमा में जोनखम के मूल्याूंकन का आधार क्या ह?ै 

(A) हनेियोसेंरट्रक नसद्धाूंत   (B) सापेक्षता नसद्धाूंत 

(C) िाूंटम नसद्धाूंत   (D) सूंभािना नसद्धाूंत 

36.  यक्वद `10 का एक शेयर नजस पर `8 माूंगा गया ह ैऔर `6 का भुगतान दकया गया है , ज़ब्त दकया जाता ह ैतो 

शेयर पूूंजी खाते को _____ से डेनबट क्वकया जाना चानहए I 
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(A) `2  (B) `6   (C) `8   (D) `10 

37.  'जब्ती क्वकए गए शेयर खाते' में शेष रानश को बैिेंस शीट में ______________ शीषय के तहत क्वदखाया जाता ह ैI 

(A) िूंबी अिनध के उधार   (B) अन्य ितयमान दनेदाररयों 

(C) ररजिय और अनधशेष   (D) शेयर पूूंजी 

38.  ऋणपत्र जारी करने पर छूट या हानन को बैिेंस शीट की तारीख से 12 महीने के भीतर या ऑपरेटटग साइक्वकि की 

अिनध के भीतर बट्टे खाते में डािना इस प्रकार क्वदखाया जाता ह:ै 

(A) अन्य ितयमान सूंपनत्त   (B) अन्य गैर-चािू सूंपनत्त 

(C) अन्य दीघयकानिक देयताएूं  (D) अन्य ितयमान देयताएूं 

39.  गानयर िसेस मुरे के फैसिे में क्वदिानिया भागीदार कौन था? 

(A) गानयर  (B) मुरे   (C) निनल्कस  (D) निनल्कन्सन 

40.  ननम्ननिनखत में से क्वकसे आम तौर पर राजस्ि व्यय के रूप में नहीं माना जाता है? 

(A) निज्ञापन नबि   (B) भिन की मरम्मत के निए भुगतान मजदरूी 

(C) एक नथएटर का व्हाइटिॉनशग नबि (D) मूल्यह्रास 

41.  एक नई स्थानपत मशीनरी की िागत `200,000 ह ैनजसका ननस्तारण मूल्य 10% ह।ै यक्वद कूं पनी मूल्यह्रास चाजय 

करने की घटती पद्धनत का पािन करती है , तो मूल्यह्रास की रानश @20% प्रनत िषय दसूरे िषय के अूंत में , आयकर 

अनधननयम की धारा 32(1) (iia) के तहत अनतररक्त मूल्यह्रास को अनदेखा करन ेपर, होगी: 

(A) `28,800  (B) `32,000  (C) `38,000  (D) `40,000 

42.  एक फमय का िाभ-मात्रा अनुपात 40% ह।ै समान िाभ मार्तजन बनाए रखने के निए नबक्री मूल्य में 10% और 

20% की कटौती को ऑफसेट करने के निए क्वकतनी नबक्री बढाई जानी चानहए? 

(A) क्रमशः 10% और 20%   (B) क्रमशः 20% और 40% 

(C) क्रमशः 25% और 50%   (D) क्रमशः 20% और 60% 

43.  अपने िाभाूंश मॉडि और पूूंजी नगयटरग मॉडि दोनों में , 'मोनडनग्िआनी और नमिर ' ननम्ननिनखत में से क्वकस 

नसद्धाूंत का उपयोग करते हैं? 

(A) फमय का मूल्य मूि रूप से उसके पूूंजी नगयटरग अनुपात द्वारा ननधायररत क्वकया जाता ह ै 

(B) फमय का मूल्य मूि रूप से फमय की पररयोजनाओं के एनपीिी द्वारा ननधायररत क्वकया जाता ह ै 

(C) फमय का मूल्य मूि रूप से उसकी िाभाूंश नीनत द्वारा ननधायररत क्वकया जाता ह ै 

(D) फमय का मूल्य मूि रूप से पूूंजी बाजार के साथ सूंिाद करने के निए प्रबूंधकों की क्षमता से ननधायररत होता ह ै 

44.  ‘चाल ूव्यिसाय की ऄिधारणा’ का अूंतर्तननहत आधार ह:ै 

(A) अचि सूंपनत्तयों को उनके उपयोगी जीिन पर मूल्यह्रास करना 

(B) प्रनतभूनतयों के बाजार मूल्य का खुिासा करना 

(C) मूि कूं पनी के साथ सहायक कूं पननयों के खातों को समेक्वकत करना 

(D) नबक्री और अन्य पररचािन जानकारी का आय नििरण में खुिासा  
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45.  ननम्ननिनखत में से कौन सा कथन गित ह?ै 

(A) जनयि कािानुक्रनमक क्रम में िेनदेन ररकॉडय करता है 

(B) िेजर निशे्लषणात्मक क्रम में िेनदेन ररकॉडय करता है 

(C) िेजर में िेनदेन पोस्ट करते समय  वजस ेखाते के जनयि में डेनबट क्वकया जाता है , ईसे िेजर में जमा क्वकया 

जाएगा। 

(D) ट्रायि बैिेंस िेखाूंकन प्रनिनियों की अूंकगनणतीय सटीकता जानने में मदद करता ह ैI 

46.  समाज के िूंनचत ननम्न-आय िगय के निए सस्ती कीमत पर नित्तीय सेिाओं का नितरण _______ के रूप में जाना 

जाता है । 

(A) के्रनडट ननमायण    (B) नित्तीय बनहष्करण    (C) नित्तीय समािेशन    (D) उपभोक्ता के्रनडट 

47.  क्रय शनक्त समानता (पी पी पी) नसद्धाूंत _________ का एक अच्छा भनिष्यिक्ता ह ै। 

(A) मूल्य स्तर में पररितयन और दो देशों की निननमय दर के बीच िूंबी अिनध की प्रिृनत्त 

(B) दो देशों के बीच ब्याज दर अूंतर जब दोनों देशों के बीच व्यापार को रोकने में मजबूत बाधाएूं होती हैं 

(C) A और B दोनों 

(D) इनमें से कोई नहीं 

48.  जोनखम मुक्त दर 4% ह ैऔर बाजार जोनखम प्रीनमयम 8.6% ह ैऔर सुरक्षा का बीटा 1.3 ह।ै कैनपटि एसेट्स 

प्राइनसग मॉडि (सी ए पी एम) के तहत सुरक्षा की अपेनक्षत िापसी क्या ह?ै 

(A) 10.15%  (B) 13.20%  (C) 15.18%  (D) 18.25% 

49.  प्रनतपक्ष जोनखम: 

(A) नित्तीय अनुबूंध की अिनध के दौरान निननमय दरों में पररितयन होने पर नुकसान का जोनखम ह ै 

(B) अनुबूंध की काल्पननक रानश पर अधाररत ह ै

(C) नुकसान का जोनखम ह ैयक्वद नित्तीय अनुबूंध के निए दसूरा पक्ष अपने दानयत्ि का सम्मान करने में निफि 

रहता ह ै 

(D) केिि एक्सचेंज-ट्रेडेड निकल्पों के साथ मौजूद ह ै 

50.  _________ बैंक के ग्राहक द्वारा निनखत रूप में क्वदया गया ननदेश ह ैनजसमें बैंकर से अनुरोध क्वकया जाता ह ैक्वक 

िह उस चेक का सम्मान न करे नजसकी तारीख, सूंख्या, रानश और भुगतान पाने िािे का नाम चेक में उनल्िनखत है 

। 

(A) सामान्य ननदेश (B) काउूं टरमाूंनडग ननदेश (C) ननषेधात्मक ननदेश     (D) स्थायी ननदेश 

51.  यक्वद निरटश पाउूंड (£) अमेररकी डॉिर ($) के सापेक्ष मूल्यह्रास करता ह ैतो: 

(A) यू.एस. से यू.के. में कुछ सामान आयात करने की िागत महूंगी होगी  

(B) यू.एस. से यू.के. में कुछ सामान आयात करने की िागत सस्ती होगी  

(C) यूके से यू.एस. में कुछ सामान आयात करने की िागत महूंगी होगी   

(D) यह यू.एस. से यू.के. में आयात को बढािा देगा  

52.  एक कूं पनी का क्वफक्स्ड ओिरहडे `24,000 ह ैऔर मानक उत्पादन 4800 यूननट ह।ै िास्तनिक उत्पादन 4200 

यूननट ह।ै यक्वद िास्तनिक ननयत ओिरहडे िागत `22,000 ह,ै तो नननश्चत ओिरहडे िॉल्यूम िेररएूंस होगा: 
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(A) `1,000 (प्रवतकूल)   (B) `2,000 (पसूंदीदा)   (C) `3,000 (प्रवतकूल)        (D) `3,000 (पसूंदीदा) 

53.  एक्स िाई जेड निनमटेड अपने द्वारा ननर्तमत कार के निए एक निशेष गैजेट बनाती ह।ै गैजेट के निए मशीन पूरी 

क्षमता से काम करती ह ैऔर पररितयनीय और नननश्चत िागत के रूप में क्रमशः `15 िाख और `40 िाख खचय 

करती ह।ै यक्वद सभी गैजेट क्वकसी बाहरी आपूर्ततकताय से खरीदे जाए ंतो मशीन का उपयोग अन्य िस्तुओं के उत्पादन 

के निए क्वकया जा सकता है  नजससे कुि 25 िाख रुपये का योगदान होगा। यह मानते हुए क्वक नननश्चत िागत 

(क्वफक्स्ड कॉस्ट) में कोई बदिाि नहीं हुआ है , एक्स िाई जेड निनमटेड को गैजेट्स के निए बाहरी सप्िायर को 

भुगतान करने के निए क्वकतनी अनधकतम कीमत देनी चानहए? 

(A) `40 िाख  (B) `65 िाख  (C) `25 िाख  (D) `15 िाख 

54.  जब एक प्रबूंधक उत्पादकता के स्तर पर कुि िागत , कुि राजस्ि और शुद्ध िाभ की ननगरानी से सूंबूंनधत है , तो 

एक िेखाकार को सामान्य रूप से नसफाररश करनी चानहए: 

               िचीिा बजट           मानक िागत 

(A)    हााँ   हााँ 

(B)    हाूं   नहीं  

(C)   नहीं    हााँ  

(D)   नहीं   नहीं  

55.  उत्पादन बजट तैयार करते समय, उत्पाक्वदत की जाने िािी मात्रा बराबर होती ह:ै 

(A) नबक्री मात्रा + तैयार माि की प्रारूंनभक मात्रा + तैयार माि की अूंनतम मात्रा 

(B) नबक्री मात्रा - तैयार माि की प्रारूंनभक मात्रा + तैयार माि की बूंद मात्रा 

(C) नबक्री मात्रा - तैयार माि की प्रारूंनभक मात्रा - तैयार माि की बूंद मात्रा 

(D) नबक्री मात्रा + तैयार माि की प्रारूंनभक मात्रा - तैयार माि की अूंनतम मात्रा 

56.  ननम्ननिनखत में से कौन सा ऑपरेटटग उपाय एक प्रबूंधक समय के साथ घटते हुए देखना चाहगेा? 

(A) मचेंडाइज इन्िेंटरी टनयओिर   (B) कुि गुणित्ता िागत 

(C) समय पर नडिीिरी का प्रवतशत   (D) तैयार माि सूची कारोबार 

57.  नित्तीय प्रबूंधन क्वकसी भी व्यिसाय का _______ कायय ह।ै 

(A) काबयननक  (B) अकाबयननक  (C) पारूंपररक (D) कम से कम महत्िपूणय 

58.  _________  मकसद िाभ कमाने के अिसरों में ननिेश करने के निए नकदी रखने से सूंबूंनधत ह ैजब  भी िे उत्पन्न 

होते हैं। 

(A) सट्टा  (B) एहनतयाती  (C) व्यापक (D) न्यायतः 

59.  एक सूंगठन अपनी िागत सूंरचना पर नननश्चत िागत को वजस हद तक उपयोग करता ह,ै उसे 

__________________ कहा जाता ह:ै 

(A) ऑपरेटटग िीिरेज    (B) नित्तीय उत्तोिन  

(C) समग्र उत्तोिन    (D) उपरोक्त में से कोई नहीं 

60.  निननमय दर में उतार-चढाि से भनिष्य के नकद िेनदेन का मूल्य क्वकस हद तक प्रभानित हो सकता है , इसे कहा 

जाता ह:ै 
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(A) आर्तथक ऄनािृवि       (B) िेनदेन ऄनािृवि 

(C) अनुिाद ऄनािृवि    (D) बैिेंस शीट ऄनािृवि 

61.  एक फमय का देनदार टनय ओिर अनुपात 5 गुना ह ैजबक्वक औसत प्राप्य `10,000 हैं। फॉमय की के्रनडट नबक्री ह:ै 

(A) `20,000  (B) `25,000  (C) `50,000  (D) `73,000 

62.  निषम की पहचान करें: 

(A) नकद प्रबूंधन (B) सूची प्रबूंधन  (C) उत्पादन प्रबूंधन      (D) प्राप्य प्रबूंधन 

63.  ई ओ क्यू (EOQ) स्तर पर ननम्ननिनखत में से कौन सा सही है? 

(A) कुि ऑडयटरग िागत       =  कुि होनल्डग/कैरींग कॉस्ट 

(B) ऑडयटरग कॉस्ट प्रनत ऑडयर  =  होनल्डग/कैरींग कॉस्ट प्रनत यूननट 

(C) कुि ऑडयटरग िागत       >  कुि होनल्डग/कैरींग कॉस्ट 

(D) कुि ऑडयटरग िागत       <  कुि होनल्डग/कैरींग कॉस्ट 

64.  'शुद्ध िाभ' के सूंबूंध में ननम्ननिनखत में से कौन सा गित ह?ै 

(A) शुद्ध िाभ व्यिसाय के सूंचािन से इक्विटी में िृनद्ध ह।ै 

(B) शुद्ध िाभ व्यय पर राजस्ि की अनधकता है 

(C) शुद्ध िाभ माि बेचने या सेिाएूं प्रदान करने के पररणामस्िरूप होते हैं 

(D) मानिकों द्वारा आगे ननिेश और नितरण के कारण इक्विटी में पररितयन शुद्ध िाभ का नहस्सा बनता है 

65.  पेबैक अिनध मूल्य (िार्तषकी) के अनुरूप ब्याज दर का एक अच्छा अनुमान क्या ह?ै 

(A) ररटनय की िेखा दर   (B) िापसी की आूंतररक दर 

(C) शुद्ध ितयमान मूल्य   (D) िाभप्रदता सूचकाूंक 

66.  िागत पर 20% जमा पर शाखा को माि भेजा गया। चािान मूल्य पर िोनडग होगी: 

(A) 16.67%  (B) 20%  (C) 25%  (D) 33.33% 

67.  शाखाओं के निए िेखाूंकन के सूंबूंध में ननम्ननिनखत में से कौन सा कथन सत्य है? 

(A) 'देनदार प्रणािी' के तहत शाखा खाता एक िास्तनिक खाता ह ै 

(B) 'स्टॉक और देनदार प्रणािी ' के तहत ‘शाखा समायोजन खाता’ शाखा द्वारा क्वकए गए सकि िाभ का खुिासा 

करता ह ै 

(C) शाखा स्टॉक खाता हमेशा िागत मूल्य पर तैयार क्वकया जाता ह ै 

(D) 'स्टॉक और देनदार प्रणािी' के तहत शाखा स्टॉक खाता एक मामूिी खाता ह ै 

68.  रॉयल्टी खाता एक ______________ ह ैI 

(A) िास्तनिक खाता      (B) नाममात्र खाता    

(C) व्यनक्तगत खाता     (D) प्रनतनननध व्यनक्तगत खाता 

69.  ननम्ननिनखत में से कौन सी त्रुरट ट्रायि बैिेंस के समझौते को प्रभानित करती है? 

(A) जनयि में चूक की त्रुरट   (B) क्षनतपूर्तत त्रुरट 

(C) नसद्धाूंत की त्रुरट   (D) कमीशन की त्रुरट 
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70.  'मेमोरेंडम ज्िाआंट िेंचर ऄकाईंट' में बैलेंस क्या दशातता ह?ै  

(A) िाभ या हानन    (B) ऄंवतम रहवतया 

(C) क्वकसी अन्य सह-उद्यम से देय शेष रानश   (D) ट्रायि बैिेंस में अूंतर 

71.  नीचे क्वदए गए कूट का प्रयोग करते हुए  तानिका I के अूंतगयत ननम्ननिनखत मदों को तानिका II के मदों से सुमेनित 

कीनजए: 

        तानिका I              तानिका II 

       िेखा मानक                   निषय िस्त ु

(i) ए एस 1    (a) कैश फ्िो स्टेटमेंट्स 

(ii) ए एस 2     (b) िेखा-पत्र की तारीख के बाद होने िािी आकनस्मकताएूं और घटनाएूं 

(iii) ए एस 3   (c) िेखा नीनतयों का प्रकटीकरण 

(iv) ए एस 4   (d) इन्िेंटरी का मूल्याूंकन 

 कूट: 

(A) (i) - (d), (ii) - (c), (iii) - (a), (iv) - (b)  (B) (i) - (c), (ii) - (d), (iii) - (a), (iv) - (b) 

(C) (i) - (b), (ii) - (d), (iii) - (c), (iv) - (a)  (D) (i) - (a), (ii) - (b), (iii) - (d), (iv) - (c) 

72.  िागत अिधारणा का मूि आधार क्या ह?ै 

(A) िागत का पता िगाना  (B) कर अनुपािन 

(C) नित्तीय िेखा परीक्षा   (D) िाभ निशे्लषण 

73.  पररचािन िागत दकसके निए उपयुक्त ह?ै 

(A) ठेकेदार  (B) जॉब ऑडयर नबजनेस (C) सेिा उद्योग (D) चीनी उद्योग 

74.  गोदाम का क्वकराया क्वकस िागत का नहस्सा है? 

(A) उत्पादन िागत (B) नितरण िागत  (C) प्रधान िागत (D) फैक्टरी िागत 

75.  सभी प्रत्यक्ष िागतों के योग को क्या कहते हैं? 

(A) उत्पादन की िागत   (B) नबक्री की िागत (C) प्रधान िागत (D) काम की िागत 

76.  जब कोई अरंवभक या ऄंवतम रहवतया नहीं है, तो सीमाूंत िागत के तहत िाभ होगा: 

(A) अिशोषण िागत से अनधक  (B) अिशोषण िागत से कम 

(C) अिशोषण िागत के बराबर  (D) कुछ कारकों के आधार पर ज्यादा, कम या समान 

77.  ननम्ननिनखत में से कौन सा कथन 'सत्य' ह?ै 

(A) 'नेट ऑपरेटटग आय दनृिकोण' के तहत आर्तबट्रेज प्रक्वक्रया का उपयोग क्वकया जाता ह ै 

(B) कॉपोरेट टैक्स की अनुपनस्थनत में िीिरेड फमय का मूल्य अनिीिर फमय के मूल्य से अनधक ह ै 

(C) एम एम दनृिकोण शुद्ध आय दनृिकोण के निए व्यिहाररक औनचत्य प्रदान करता ह ै 

(D) एम एम दनृिकोण के अनुसार पूूंजी सूंरचना का फमय के मूल्य के साथ कोई सूंबूंध नहीं ह ै 

78.  क्वदया गया ह:ै जोनखम मुक्त ब्याज दर = 5% , बाजार पोटयफोनियो पर प्रत्यानशत प्रनतफि दर = 15% , बाजार के 

प्रनतफि की प्रनतफि की सूंिेदनशीिता सूचकाूंक = 1.2  । कैनपटि एसेट प्राइनसग मॉडि के अनुसार पूूंजी की 

िागत होगी: 
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(A) 10%  (B) 15%   (C) 17%   (D) 27% 

79.  प्रमाण के निए ‘सामग्री िागत निचरण’ बराबर ह:ै 

(A) सामग्री उपयोग प्रसरण + सामग्री नमश्रण प्रसरण 

(B) सामग्री मूल्य प्रसरण + सामग्री उपयोग प्रसरण 

(C) सामग्री मूल्य नभन्नता + सामग्री उपज नभन्नता 

(D) मटेररयि नमक्स िेररएूंस + मटेररयि यील्ड िेररएूंस 

80.  ननम्ननिनखत में से कौन सी सीमाूंत िागत की धारणाएूं नीचे क्वदए गए कोड के अनुसार सही हैं? 

(i) िागत के सभी तत्िों को नननश्चत और पररितयनीय घटकों में निभानजत क्वकया जा सकता हैA 

(ii) उत्पादन के सभी स्तरों पर कुि नस्थर िागत नस्थर रहती है A 

(iii) कुि पररितयनीय िागत ईत्पाद की मात्रा के अनुपात में नभन्न होती ह ैA 

(iv) पररचािन गनतनिनध के सभी स्तरों पर प्रनत यूननट नबक्री मूल्य अपररिर्ततत रहता है A 

  कोड: 

(A) i और ii  (B) ii और ii  (C) i और iv          (D) i, ii, iii, और iv 

81.  'सतत विकास लक्ष्य' (एसडीजी) के बारे में गलत कथन का चयन करें । 

1. सतत विकास लक्ष्यों को अवधकाररक तौर पर 'ट्ांसफॉर्ममग ऄिर िल्डत: द 2030 एजेंडा फॉर सथटेनेबल 

डिेलपमेंट' के रूप में जाना जाता है A 

2. सतत विकास लक्ष्य 150 लक्ष्यों के साथ 25 अकांक्षा लक्ष्यों का ऄंतर-सरकारी सेट है A 

3. एसडीजी 1 जनिरी, 2015 को ऄवथतत्ि में अए और 31 ददसंबर, 2025 तक समाप्त हो जाएगें A 

4. वहमाचल प्रदशे में एसडीजी ढांच ेके कायातन्ियन के वलए समाज कल्याण विभाग राज्य में नोडल विभाग ह ैA 

(A)  2, 3 और 4  (B) 1 केिि     (C) 2 केिि   (D) आनमें स ेकोइ नहीं 

82.  वनम्नवलवखत में स ेकौन सा / स ेकथन सही नहीं है / हैं? 

1. वहमाचल प्रदशे राज्य में कुल खेती योग्य क्षेत्र का लगभग 80% िर्ात पर वनभतर ह ैA 

2. राज्य में औसतन 1251 वममी िर्ात होती ह ैA 

3. कांगड़ा वजल ेमें सिातवधक िर्ात होती ह ैA 

4. लाहौल और थपीवत वजल ेमें सबस ेकम िर्ात होती ह ैA 

(A) 1 केिि      (B) 2 केिि    (C) 3 और 4   (D) आनमें स ेकोइ नहीं 

83.  fuEu esa ls lgh dFku dk pquko djsaA  

1.  

2. lu~1020 bZ0 rd uxjdksV dk fdyk egewn dh lSuk dk lSU;nqxZ jgk FkkA 

3.  

4. jktdqekj ^ulhj&mn&nhu^ us dkaxM+k ds jkt flagklu ij ^rSeqj&,&yax^ uke ls fot; izkIr fd;kA 

(A) mi;qZDr esa ls lHkh  (B) 1 vkSj 2    (C) 3 vkSj 4   (D) mi;qZDr esa ls dksbZ ugha 
 

84.  fuEu esa ls lgh dFku dk pquko djsa 

1. ykgkSy {ks= dh pksfV;ksa dh vkSlr ÅapkbZ 5480 ehVj ls 6400 ehVj gSA 
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2. ykgkSy dh rqyuk esa fLifr dh ÅapkbZ vf/kd gSA  

3. pUnzk vkSj Hkkxk ufn;ksa dh la;qDr ?kkVh dks iV~Vu ?kkVh dgrs gSaA 

4. fLifr unh fdUukSj ds pkaxks uked xkao esa lryqt esa feyrh gSA 

(A) dsoy 3  (B) 1, 2 vkSj 3   (C) mi;qZDr lHkh   (D) dsoy 4 
 

85.  fuEufyf[kr la;kstuksa dk muds lEcU/kksa ds vuq#i feyku djsa vkSj uhps fn, x, dwVksa ds vk/kkj ij lgha 
mRrj dks pqusaA 

1. chM+&fcfyax % Qzkal ds ,Dl cksj jse.M  

2.  % Lisu ds VksysMks rduhd ls cuk  

3. eSDyksMxat %  

4. csaVuh dSly %   

(A)  1, 3 vkSj 4 lgh gSaa (B) 1 vkSj 2 lgh gSaa (C) 3 vkSj 4 lgh gSaa (D) mi;qZDr lHkh xyr gSa  

86.  fuEu esa ls dkSu lk dFku lR; ugha gS\ 

1.  jkT; ljdkj us fLifr ?kkVh ds ^dkbeks^ vkSj ^dkbrks^ esa ^;kd iztuu dsUnẑ  [kksyk gSA 

2.  twu 2018 esa fg0 iz0 us dqYyw ?kkVh esa i;ZVdksa dh vken dks lhfer j[kus ds fy, fg0 iz0 us HkwVku 
ekWMy dks viukus dk QSlyk fy;k gSA 

3.  fg0 iz0 ljdkj us vKkr vkSj vutku i;ZVd LFkyksa dh igpku djus ds fy, ^vkt iqjkuh jkgksa ls^ uked 
,d ubZ ;kstuk dk vkjEHk fd;k gSA  

4.  fg0 iz0 esa i;ZVu dks c<+kok nsus ds fy, jkT; ljdkj us i;ZVu ,oa ukxfjd mM~M;u foHkkx }kjk rS;kj 
fd, x, fQYe fuekZ.k uhfr dks viuh Lohd`fr nh gSA 

(A) mi;qZDr esa ls dksbZ ugha   (B) mi;qZDr esa ls lHkh     (C) 1, 2 vkSj 3  (D) dsoy 4  
 

87. fuEu esa ls dkSu lh ;kstuk,a@igy fg0 iz0 ljdkj us vkjEHk dh gS\ 

1.  aA 

2. ckfydkvksa ds izfr lekt ds udkjkRed #[k@lksp dks cnyus ds fy, ^csVh gS vueksy ;kstuk aA 

3. lqj{kk ;kstuk^ A 

4.  aA 

(A)  mi;qZDr esa ls lHkh   (B) 1, 2 vkSj 3  (C) 1, 2 vkSj 4   (D) dsoy 1 vkSj 2  

 

88.  fg0 iz0 ds xqTtjksa ds ckjs fuEufyf[kr dFkuksa esa ls dkSu ls dFku lgh gSa\ 

1.   

2.  fg0 iz0 esa vf/kdrj xqTtj pjokgs gSaA  

3.  vfHkys[kksa (fjdkMZ) ds vuqlkj xqTtjksa dks gwuksa ds lkFk tksM+k tkrk gSA 

4.  fg0 iz0 ds xqTtj fgUnw vkSj eqfLye nksuksa /keksZ ds gSaA  

(A) mi;qZDr lHkh dFku lR; gSaa   (B) mi;qZDr lHkh dFku vlR; gSa  

(C) dFku 4 vlR; gS    (D) dFku 1 vkSj 3 vlR; gSa  

89.  fuEu esa ls dkSu lk dFku lgh ugha gS\ 

1. izns'k ds foyqIr vkSj gzkl gq, ty lalk/kuksa dks u;k djus gsrq ^ioZr /kkjk^ ;kstuk vkjEHk djuk A 

2. ^ioZr&/kkjk ;kstuk^ dks ty 'kfDr foHkkx vkSj ty foHkkx nksuksa }kjk pyk;k tk jgk gS A  

3. ^ou le`f) tu le`f) ;kstuk^ dks fgekpy izns'k ds dsoy nks tSo&fofo/krk le`) ftyksa esa ykxw fd;k 
tk jgk gS A 

4. ^lkeqnkf;d ou lEo)Zu ;kstuk^ dk mn~ns'; ouksa ds laj{k.k vkSj fodkl esa LFkkuh; yksxksa dh Hkkxhnkjh 
lqfuf'pr djuk A 
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(A) 1, 2 vkSj 4  (B) dsoy 3  (C) mi;qDZr lHkh  (D) dsoy 1 vkSj 2     

90. fuEufyf[kr esa ls dkSu lk dFku lR; ugha gS\ 

1. Qlyksa dks canjksa vkSj vkokjk tkuojksa ls gksus okys uqdlku ls j{kk djus gsrq ^eq[;ea=h [ksr laj{k.k 
;kstuk^ dh 'kq#vkr dh gS  

2. fg0 iz0 ljdkj us ^ty ls d`f"k dks cy^ uked ,d ubZ ;kstuk dh 'kq#vkr dh gS vkSj blds rgr 
lkeqnkf;d y?kq&ty&laj{k.k ij 100 izfr'kr O;; ljdkj }kjk ogu fd;k tk,xk 

3. Qlyksa dks vksyko`f"V ls j{kk djus gsrq jkT; ljdkj us 2020&21 ls ,d ubZ ;kstuk ^d`f"k ls lEiUurk 
;kstuk^ dh 'kq#vkr dh gS  

4. ^ghax^ vkSj ^dslj^ ds mRiknu dks c<+kok nsus ds fy, fg0 iz0 ljdkj us ,d ubZ ;kstuk  ^d`f"k mRiknu 
laj{k.k ;kstuk^ dks 'kq# fd;k gS 

(A) 1 vkSj 2  (B) 3 vkSj 4   (C) dsoy 2  (D) dsoy 1    

91 ‘मोंटेगू चेम्सफोडय सुधार ’… से सूंबूंनधत थे। 

(A) सामानजक सुधार ( B) शैनक्षक सुधार ( C) िोक प्रशासन में सुधार ( D) सूंिैधाननक सुधार 

92. भारत के मुख्य चुनाि अयुक्त (सीइसी) सुशील चंद्रा ने हाल ही में दकस दशे के राष्ट्रपवत चुनाि की ऄंतरराष्ट्रीय 

पयतिेक्षक के रूप में दखेरेख की ह?ै 

(A) ल्सगापुर   (B) थाइलैंड   (C) ईज्बेदकथतान  (D) श्रीलंका 

93. भारत के ननम्ननिनखत में से क्वकस के्षत्र में शेि गैस सूंसाधन पाए जाते हैं? 

1. कैम्बे बेनसन  2. कािेरी बेनसन  3. कृष्णा-गोदािरी बेनसन 

(A) 1 और 2 ही  ( B) 3 ही  ( C) 2 और 3 ही  ( D) 1,2 और 3 

94. पूंचायती राज व्यिस्था का मूि उद्देश्य ननम्ननिनखत में से कौन सुनननश्चत करना ह।ै 

1. राजनीनतक जिाबदेही   2. निकास में िोगों की भागीदारी 

3. िोकताूंनत्रक निकें द्रीकरण  4. नित्तीय जुटाना 

 (A) 1 और 2  (B) 2 और 3  (C) 1, 2 और 3   (D) 3 और 4 

95. थिच्छ पयातिरण ईपकर लगाया जाता ह:ै 

(A) हरे पेड़ों की कटाइ    (B) नददयों का प्रदरू्ण 

(C) कोयले का ईत्पादन    (D) कारखानों द्वारा िायु प्रदरू्ण 

96. बीनजग + 25 - ननम्ननिनखत में से क्वकससे सूंबूंनधत ह?ै 

(A) िैंनगक असमानता के निए बाधाओं को दरू करने के निए कारयिाई के निए बीनजग मूंच को अपनाने के 25 

िषों के ननशान । 

(B) आर्तथक असमानता की बाधाओं को दरू करने के निए कारयिाई के निए बीनजग के मूंच को अपनाने के 25 

िषों को नचनननत करना । 

(C) राजनीनतक असमानता के निए बाधाओं को दरू करने के निए कारयिाई के निए बीनजग मूंच को अपनाने के 

25 िषों को नचनननत करना । 

(D) के्षत्रीय असमानता के निए बाधाओं को दरू करने के निए कारयिाई के निए बीनजग मूंच को अपनाने के 25 

िषों को नचनननत करना । 

97. निश्व बैंक की स्थापना क्यों की गई? 

(A)  अूंतरायष्ट्रीय व्यापार को बढािा देने के निए 

(B)  नद्वतीय निश्व युद्ध के दौरान क्षनतग्रस्त हुई अथयव्यिस्थाओं का पुनर्तनमायण करना 
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(C)  गैर-सदस्य देशों के भुगतान की नस्थनत की प्रनतकूि सूंतुिन में सुधार करने के निए 

(D)  उपरोक्त में से कोई नहीं 

98. ग्िोबि जेंडर गैप ररपोटय 2020 के बारे में ननम्ननिनखत में से कौन सा कथन सही ह?ै 

(A) इसमें कुि 153 प्रनतभागी हैं  (B) भारतीय रैंक 112 ह ै

(C) नॉिे सबसे अनधक निग-तटस्थ देश ह ै (D) यमन सबसे कम निग-तटस्थ देश ह ै

99. कास्टय स्थिाकृनत की सतह घाटी हैं क्योंक्वक: 

A. िे उष्णकरटबूंधीय और ध्रुिीय के्षत्रों के बीच अक्षाूंशों में नस्थत हैं 

B. उनके पास सतह जि ननकासी प्रणािी नहीं ह ै

C. िे 25 सेमी से नीचे िार्तषक औसत िषाय प्राप्त करते हैं 

D. िे हमेशा रेनगस्तान के पास नस्थत होते हैं 

100. हाल ही में खबरों में रहा कुक थटे्ट दकस दशे में वथथत ह?ै 

(A) न्यूजीलैंड  (B) ऑथटे्वलया  (C) फ्ांस   (D) आंग्लैंड 

***** 
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SPACE FOR ROUGH WORK / रफ काम के वलए जगह 
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SPACE FOR ROUGH WORK / रफ काम के वलए जगह 
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जब तक अपको यह परीक्षण पुनस्तका खोलने को न कहा जाए तब तक न खोलें 

सहायक ऄवधकारी (कायतकारी प्रवशक्षु - विि) के वलए छंटनी परीक्षा की 

परीक्षण पुनस्तका  

परीक्षण पुनस्तका ऄनुक्रम 

 

समय: दो घन्ट े                                                                                                                   पूणाांक: 100 

ऄनुदशे  

1. छंटनी परीक्षा प्रारम्भ होन ेके तुरंत बाद, अप आस परीक्षण पुनस्तका की पड़ताल ऄिश्य कर लें दक आसमें कोइ वबना छपा, फटा या छूटा 

हुअ पृष्ठ ऄथिा प्रश्ांश अदद न हो । यदद ऐसा ह,ै तो आसे सही परीक्षण पुनस्तका स ेबदल लीवजय े। 

2. कृपया ध्यान रखें दक ओ.एम.अर. ईिर-पत्रक में, ईवचत थथान पर, रोि नूंबर, टेस्ट बुकिेट ऄनुक्रम A, B, C या D और अिेदन संख्या को, 

ध्यान स ेएिं वबना दकसी चूक या निसूंगनत के भरन ेऔर कूटबद्ध करन ेकी वजम्मेदारी ईम्मीदिार की ह ै। ईम्मीदिार द्वारा अिेदन संख्या, 

रोल नंबर या दोनों के गलत कूटबद्ध के कारण ईिर पुवथतका के थकैन दकए गए डटेा में कोइ तु्ररट पाइ गइ तो ईसकी ईिर-पत्रक का 

मूल्यांकन नहीं दकया जाएगा और ईस ेसीध ेवनरथत / खाररज कर ददया जाएगा । 

3. आस परीक्षण पुनस्तका पर साथ में ददए गए कोष्ठक में अपको ऄपना अपना 

रोि नूंबर वलखना होगा। परीक्षण पुनस्तका पर और कुछ न निखें । 

 

 

 

4. आस परीक्षण पुनस्तका में 100 प्रश्ांश ल्हदी और ऄंगे्रजी दोनों में छपे हैं । प्रत्येक प्रश्ांश में चार प्रत्युिर (उत्तर) ददए गए हैं । आनमें स ेएक 

प्रत्युिर (उत्तर) को चुन लें, वजस ेअप ईिर-पत्रक पर ऄंदकत करना चाहत ेहैं । यदद आपको ऐसा लगे दक एक से अनधक प्रत्युिर (उत्तर) 

सही हैं, तो उस प्रत्युिर (उत्तर) को ऄंदकत करें जो अपको सिोिम लगे । 

5. अपको ऄपन ेसभी प्रत्युिर (उत्तर) ऄलग स ेददए गए ईिर-पत्रक पर ही ऄंदकत करन ेहैं । ईिर-पत्रक में ददए गए वनदशे दवेखय े। 

6. सभी प्रश्ों के अूंक समान हैं ।  

7. आसस ेपहल ेदक अप परीक्षण पुनस्तका के विवभन्न प्रश्ांशों के प्रत्युिर (उत्तर) ईिर-पत्रक पर ऄंदकत करना शुरू करें, अपको डाईनलोड दकए 

गए प्रिेश पत्र में दी गइ प्रविवियों के ऄनुसार कुछ वििरण ईिर-पत्रक में दने ेहैं । 

8. अप ऄपन ेसभी प्रत्युिरों को ईिर पत्रक में भरन ेके बाद तथा परीक्षा के समापन पर केिल मूि ईिर पत्रक ननरीक्षक को सौंप दें । आपको 

अपने साथ परीक्षण पुनस्तका और ईिर-पत्रक की उम्मीदिार प्रनत िे जाने की अनुमनत ह ै। 

9. कच्च ेकाम के वलए पत्रक के ऄंत में सलंग्न हैं । 

10. गलत ईिरों के वलए दडं : 

. िथतुवनष्ठ प्रश् पत्रों में ईमीदिार द्वारा ददए गए गलत ईिरों के वलए दडं ददया जायेगा । 

(i) प्रत्येक प्रश्न के निए चार िैकवल्पक उत्तर हैं। उम्मीदिार द्वारा प्रत्येक प्रश्न के निए  ददए गए एक गित उत्तर के निए प्रश्न हते ुवनयत 

दकए गए ऄंकों का एक चौथाइ दडं के रूप में काटा जायेगा । 

(ii) यक्वद कोई उम्मीदिार एक से अनधक उत्तर दतेा ह,ै तो आस ेगित उत्तर माना जाएगा, यद्यवप क्वदए गए उत्तरों में से एक उत्तर सही 

होता ह,ै दफर भी ईस प्रश् के निए ईपयुतक्तानुसार ही, ईसी तरह का दडं ददया जायेगा । 

(iii) यक्वद उम्मीदिार द्वारा कोई प्रश्न हल नहीं दकया जाता ह ैऄथातत ईम्मीदिार द्वारा ईिर नहीं ददया जाता ह,ै तो  ईस प्रश् के वलए कोइ 

दडं नहीं ददया जायेगा । 

(iv) यक्वद एक प्रश्न के चार िैकवल्पक उत्तरों में से एक सही के बजाय दो या ऄवधक उत्तर सही हैं तो जो उम्मीदिार इन सही उत्तरों में से 

क्वकसी एक को कूटबद्ध करेंगे, उन्हें उस प्रश्न के निए आिूंरटत अूंक प्रदान दकय ेजायेंगे । 

11. रद्द प्रश्न के वलए कोइ ऄंक नहीं ददया जाएगा । 

12. प्रश्न के अूंग्रेजी और नहदी संथकरणों में पाई गई क्वकसी भी निसूंगनत के मामिे में, अूंग्रेजी सूंस्करण को सही और अूंनतम माना जायेगा । 

जब तक अपको यह परीक्षण पुनस्तका खोलन ेको न कहा जाए तब तक न खोलें 

ध्यान दें : ईपरोक्त ऄनुदशेों का ऄंगे्रजी रूपांतर आस पुवथतका के मुखपृष्ठ पर छपा ह ै। 


